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cf= j= )&$÷)&% sf] nflu :jLs[t-k|:tfljt_ j8f:t/Lo of]hgf tyf sfo{qmd ljj/0f          cg';"rL %  

!= nlIft ljsf; sfo{qmd!= nlIft ljsf; sfo{qmd!= nlIft ljsf; sfo{qmd!= nlIft ljsf; sfo{qmd            12600000.0012600000.0012600000.0012600000.00    
      s= dlxnf nlIft ljsf; sfo{qmd tyf of]hgfs= dlxnf nlIft ljsf; sfo{qmd tyf of]hgfs= dlxnf nlIft ljsf; sfo{qmd tyf of]hgfs= dlxnf nlIft ljsf; sfo{qmd tyf of]hgf    3600000.003600000.003600000.003600000.00    
 1 dlxnfx?sf cf+u v:g]-kf7]3/_ :jf:Yo lzlj/ ;+rfng  ;a} j8fsf nflu 900000.00 
 2 l;nfO{ s6fO{ tflnd ljtf{df]8 g=kf= ! 100000.00 
 3 ;'/lIft a}b]lzs /f]huf/sf] nflu ;r]tgf d'ns sfo{qmd ljtf{df]8 g=kf= ! 50000.00 
 4 ;zlQms/0f dlxnf lx+;f, g]t[Tj ljsf; sfo{qmd ljtf{df]8 g=kf= ! 50000.00 
 5 c6f] l/S;f, 6]Dkf] rfns ;DaGwL tflnd ljtf{df]8 g=kf= ! 100000.00 
 6 pb\3f]if0f tflnd ljtf{df]8 g=kf= @ 50000.00 
 7 n]vf tflnd ljtf{df]8 g=kf= @ 50000.00 
 8 a}b]lzs /f]huf/ ;DaGwL r]tgfd'ns sfo{qmd ljtf{df]8 g=kf= @ 50000.00 
 9 r]lna]6L a]rljvg lj?4 r]tgfd'ns sfo{qmd ljtf{df]8 g=kf= @ 50000.00 
 10 a'l6s tflnd ljtf{df]8 g=kf= @ 50000.00 
 11 Jo"l6l;og tflnd ljtf{df]8 g=kf= @ 50000.00 
 12 l;nfO{ s6fO{ tflnd ljtf{df]8 g=kf= # 100000.00 
 13 cuf{lgs s/];fjf/L t/sf/L v]tL tflnd ljtf{df]8 g=kf= # 50000.00 
 14 r]lna]6L a]rljvg lj?4 r]tgfd'ns sfo{qmd ljtf{df]8 g=kf= # 50000.00 
 15 ;'/lIft a}b]lzs /f]huf/sf] nflu ;r]tgf sfo{qmd ljtf{df]8 g=kf= # 50000.00 
 16 km'nsf] j]gf{ v]tL ;DaGwL tflnd ljtf{df]8 g=kf= # 50000.00 
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17 s]z >[+uf/ tyf Jo"6L kfn{/ tflnd ljtf{df]8 g=kf= $ 100000.00 
 18 l;nfO{ s6fO{ tflnd ljtf{df]8 g=kf= $ 100000.00 
 19 ;'/lIft a}b]lzs /f]huf/sf] nflu ;r]tgf sfo{qmd ljtf{df]8 g=kf= $ 50000.00 
 20 g]t[Tj ljsf; tyf pb\3f]if0f tflnd ljtf{df]8 g=kf= $ 50000.00 
 21 l;nfO{ s6fO{ tflnd ljtf{df]8 g=kf= % 100000.00 
 22 sDKo"6/ lzIff tyf :j/f]huf/ ;DaGwL tflnd ljtf{df]8 g=kf= % 100000.00 
 23 cu{flgs Rofp v]lt tflnd ljtf{df]8 g=kf= % 100000.00 
 24 pb\3f]if0f tflnd ljtf{df]8 g=kf= ^ 100000.00 
 25 l;nfO{ s6fO{ tflnd ljtf{df]8 g=kf= ^ 100000.00 
 26 ;'/lIft a}b]lzs /f]huf/sf] nflu ;r]tgf sfo{qmd ljtf{df]8 g=kf= ^ 100000.00 
 27 k|:tfjgf n]vg tyf g]t[Tj ljsf; tflnd ljtf{df]8 g=kf= & 100000.00 
 28 a}b]lzs /f]huf/ ;DaGwL r]tgfd'ns sfo{qmd ljtf{df]8 g=kf= & 100000.00 
 29 l;nfO{ s6fO{ tyf a'l6s  tflnd ljtf{df]8 g=kf= & 100000.00 
 30 u'l8of tyf s';g tflnd ljtf{df]8 g=kf= * 100000.00 
 31 pb\3f]if0f tflnd ljtf{df]8 g=kf= * 100000.00 
 32 sDKo"6/ ;DaGwL tflnd ljtf{df]8 g=kf= * 100000.00 
 33 l;nfO{ s6fO{ tflnd ljtf{df]8 g=kf= ( 150000.00 
 34 gf/L >[+uf/ tflnd ljtf{df]8 g=kf= ( 150000.00 
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v= afnaflnsf nlIft ljsf; sfo{qmd tyf of]hgfv= afnaflnsf nlIft ljsf; sfo{qmd tyf of]hgfv= afnaflnsf nlIft ljsf; sfo{qmd tyf of]hgfv= afnaflnsf nlIft ljsf; sfo{qmd tyf of]hgf    3600000.003600000.003600000.003600000.00    
 1 gu/:t/Lo  afnd}qL :yfgLo zf;g sfo{qmd ;+rfng ug{ ;a} j8fsf nflu 900000.00 
 2 afnaflnsfx?sf] l:ylt -k|F]kmfon_ tof/ ug{ ljtf{df]8 g=kf= ! 100000.00 
 3 afnd}qL :yfgLo zf;g k|j4{g ug{ ljtf{df]8 g=kf= ! 50000.00 
 

4 afnd}qL :yfgLo zf;g ;DaGwL ;r]tgf d'ns sfo{qmd cltl/Qm lqmofsnfk tyf gu/ :t/Lo afn 
e]nf ug{ ljtf{df]8 g=kf= ! 100000.00 

 5 ;]tf] u'/f; afn ljsf; s]Gb|  ljtf{df]8 g=kf= ! 50000.00 
 6 afnaflnsfx?sf] l:ylt -k|F]kmfon_ tof/ ug{ ljtf{df]8 g=kf= @ 50000.00 
 7 afnd}qL :yfgLo zf;g k|jw{g ug{ ljtf{df]8 g=kf= @ 50000.00 
 

8 afnd}qL :yfgLo zf;g ;DaGwL ;r]tgf d'ns sfo{qmd cltl/Qm lqmofsnfk tyf gu/ :t/Lo afn 
e]nf ug{ ljtf{df]8 g=kf= @ 50000.00 

 9 gjhfu/0f afnljsf; s]Gb|df afnd}qL sIff sf]7f lgdf{0f ug{ ljtf{df]8 g=kf= @ 150000.00 
 10 >L ;[hgf afnljsf; s]Gb| Joj:yfkg ljtf{df]8 g=kf=# 100000.00 
 11 afnaflnsfx?sf] l:ylt -k|F]kmfon_ tof/ ug{ ljtf{df]8 g=kf=# 50000.00 
 12 afnd}qL :yfgLo zf;g k|jw{g ug{ ljtf{df]8 g=kf=# 50000.00 
 

13 
afnd}qL :yfgLo zf;g ;DaGwL ;r]tgf d'ns sfo{qmd cltl/Qm lqmofsnfk tyf gu/ :t/Lo afn 
e]nf ug{ ljtf{df]8 g=kf=# 100000.00 

 14 afnd}qL nufgL of]hgf lgdf{0f sfo{qmd  ljtf{df]8 g=kf=$ 50000.00 
 15 afnaflnsfx?sf] l:ylt -k|F]kmfon_ tof/ ug{ ljtf{df]8 g=kf=$ 50000.00 
 16 afnd}qL :yfgLo zf;g k|jw{g ug{ ljtf{df]8 g=kf=$ 50000.00 
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17 ;f]daf/] afn ljsf;sf] Joj:yfkg ljtf{df]8 g=kf=$ 50000.00 
 18 ;"gf}nf] afn au}rf,Hof]lt afn ljsf;, ;/:jtL afn ljsf; ljtf{df]8 g=kf=$ 100000.00 
 19 v]ns'b ljsf; tflnd ljtf{df]8 g=kf=% 100000.00 
 20 JoflQmTj snf ljsf; tflnd ljtf{df]8 g=kf=% 100000.00 
 21 ;flxTo uf]i7L, xflh/L hjfkm tyf pb\3f]if0f tflnd ljtf{df]8 g=kf=% 100000.00 
 22 v]ns'b ;fdu|L vl/b ljtf{df]8 g=kf=^ 200000.00 
 23 k':tfsfno lgdf{0f ljtf{df]8 g=kf=^ 100000.00 
 24 afnd}qL :yfgLo zf;g ;DaGwL ;r]tgf d'ns sfo{qmd  ljtf{df]8 g=kf=& 50000.00 
 25 afnaflnsfx?sf] l:ylt -k|F]kmfon_ tof/ ug{ ljtf{df]8 g=kf=& 100000.00 
 26 afnSnj cltl/Qm lqmofsnfkx? ljtf{df]8 g=kf=& 100000.00 
 27 afn ljsf; s]Gb| Joj:yfkfg ljtf{df]8 g=kf=& 50000.00 
 28 afnaflnsfx?sf] l:ylt -k|F]kmfon_ tof/ ug{ ljtf{df]8 g=kf=* 100000.00 
 

29 afnd}qL :yfgLo zf;g ;DaGwL ;r]tgf d'ns sfo{qmd cltl/Qm lqmofsnfk tyf gu/ :t/Lo afn 
e]nf ug{ ljtf{df]8 g=kf=* 100000.00 

 30 afn ljsf; s]Gb| Joj:yfkfg ljtf{df]8 g=kf=* 100000.00 
 31 afnaflnsfx?sf] l:ylt -k|F]kmfon_ tof/ ug{ ljtf{df]8 g=kf=( 100000.00 
 32 afnljsf; s]Gb|sf] Joj:yfkg ug]{ ljtf{df]8 g=kf=( 200000.00 
                                 
 

u= cGo nlIft ju{ ljsf; sfo{qmd tyf of]hgf  u= cGo nlIft ju{ ljsf; sfo{qmd tyf of]hgf  u= cGo nlIft ju{ ljsf; sfo{qmd tyf of]hgf  u= cGo nlIft ju{ ljsf; sfo{qmd tyf of]hgf      5400000.005400000.005400000.005400000.00    
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 1 h]i7 gful/s ;Ddfg tyf k|lzIf0f sfo{qmd j8f g+= ! b]lv ( 100000.00 
 2 h]i7 gful/s cWoog tyf lty{z{g j8f g+= ! b]lv ( 125000.00 
 3 h]i7 gful/s :jf:Yo kl/If0f tyf :jf:Yo ;]jf sfo{qmd j8f g+= ! b]lv ( 100000.00 
 

4 h]i7 gful/s d}qL sfo{qmd ;+rfng ug{ ;/f]sf/ jfnf ljleGg ;+3;:+yf;u cGt/ ;DaGw sfo{qmd 
;+rfng j8f g+= ! b]lv ( 50000.00 

 5 h]i7 gful/s sfof{no ;+rfng j8f g+= ! b]lv ( 75000.00 
 6 ckfª\utf ePsf JolQmx?sf nflu Ifdtf ljsf; tflnd j8f g+= ! b]lv ( 100000.00 
 7 ckfª\utf ePsf JolQmx?sf nflu sDKo"6/ tflnd j8f g+= ! b]lv ( 50000.00 
 8 ckfª\utf ePsf JolQmx?sf nflu cfo cfh{g ug{ ljpm k"lh sfo{qmd j8f g+= ! b]lv ( 50000.00 
 9 af}l4s ckfª\utf ePsf JolQmx?sf cleefjsx?sf nflu cled's/0f tflnd j8f g+= ! b]lv ( 50000.00 
 10 ckfª\utf kl/ro kq k|flKtsf] nflu k/fdz{ tyf hgr]tgf clej[l4 sfo{qmd j8f g+= ! b]lv ( 50000.00 
 11 emfkf g]qlxg ;+3sf] k~rjlif{o /0flglts of]hgf th'{df sfo{qmd j8f g+= ! b]lv ( 50000.00 
 12 alx/fx?sf nflu Ifdtf ljsf; sfo{qmd j8f g+= ! b]lv ( 50000.00 
 13 cflbjf;L hghfltx?sf nflu pb\3f]if0f tflnd tyf /]l8of] sfo{qmd ;+rfng j8f g+= ! b]lv ( 150000.00 
 14 cflbjf;L hghfltx?sf nflu Nofk6k÷sDKo"6/ tyf df]afOn dd{t tflnd j8f g+= ! b]lv ( 150000.00 
 15 j8f:t/Lo cflbjf;L hghflt ;d'bfosf] nflu Ifdtf clej[l4 sfo{qmd j8f g+= ! b]lv ( 200000.00 
 16 gu/ leqsf cflbjf;L hghflt ;d'bfosf] hfltut ;f:s[lts k|j{4g j8f g+= ! b]lv ( 225000.00 
 17 cflbjf;L hghflt dlxnfx?sf nflu jftj/0fd}qL emf]nf agfpg] tflnd j8f g+= ! b]lv ( 100000.00 
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18 nf]kf]Gd'v cflbjf;L hghflt ;d'bfosf] Ifdtf clej[l4 sfo{qmd j8f g+= ! b]lv ( 50000.00 
 19 cflbjf;L hfghflt dxf;+3 gu/ ;dGjo kl/ifbsf nflu ! yfg k|f]h]S6/ vl/b j8f g+= ! b]lv ( 75000.00 
 20 cflbjf;L hghfltx?sf sfg'gL ;r]tgf tyf dfgj clwsf/ ;DaGwL ;r]tgf sfo{qmd j8f g+= ! b]lv ( 100000.00 
 21 cflbjf;L hghflt ejg lgdf{0f j8f g+= ! b]lv ( 1000000.00 
 22 cflbjf;L hghflt dft[efiff k|lzIf0f j8f g+= ! b]lv ( 200000.00 
 23 ljZj cflbjf;L lbj; @)&$ j8f g+= ! b]lv ( 50000.00 
 24 blnt ;d'bfosf] 3/df ;f]nf/jlQ  ljt/0f sfo{qmd j8f g+= ! b]lv ( 500000.00 
 25 blnt ;d'bfosf] ljwfyL{sf nflu nf]d ;]jf k"j{ tof/L sIff ;+rfng j8f g+= ! b]lv ( 50000.00 
 26 blnt ;d'bfosf] nflu r]tgf d'ns /]l8of] sfo{qmd j8f g+= ! b]lv ( 100000.00 
 27 blnt ;fd'bfosf] nflu sDKo"6/ tflnd j8f g+= ! b]lv ( 50000.00 
 28 blnt ;d'bfosf] nflu sfg'gL ;fIf/tf tyf g]t[Tj ljsf; sfo{qmd j8f g+= ! b]lv ( 250000.00 
 29 blnt ;d'bfosf] nflu df]6/ 8«fO{leª tflnd j8f g+= ! b]lv ( 50000.00 
 30 blnt ;d'bfosf] nflu cfwf/e"t l;nfO{ s6fO{ tflnd j8f g+= ! b]lv ( 100000.00 
 31 dw];L d'l:nd / lk58f ju{sf nflu k|hgg :jf:Yo tflnd sfo{qmd j8f g+= ! b]lv ( 100000.00 
 32 dw];L d'l:nd / lk58f ju{sf dlxnfx?sf nflu 3/]n' lx+;f sfo{qmd j8f g+= ! b]lv ( 65000.00 
 33 dw];L d'l:nd / lk58f ju{sf nflu sDKo"6/ j]l;s tyf P8\efG; tflnd j8f g+= ! b]lv ( 130000.00 
 34 dw];L d'l:nd / lk58f ju{sf nflu organic v]tL tflnd j8f g+= ! b]lv ( 50000.00 
 35 dw];L d'l:nd / lk58f ju{sf nflu efiff tyf ;+:s[tL ;+/If0f j8f g+= ! b]lv ( 65000.00 
 36 dw];L d'l:nd / lk58f ju{sf nflu Ledger Maintain tflnd j8f g+= ! b]lv ( 35000.00 
 



 

ljtf{df]8 gu/kflnsf 
ah]6 lglt tyf sfo{qmd cf=a= )&$÷)&% 

 
 

7 
 

37 dw];L d'l:nd / lk58f ju{sf nflu ;}n'g tflnd j8f g+= ! b]lv ( 65000.00 
 38 dw];L d'l:nd / lk58f ju{sf nflu Jofu agfpg] tflnd j8f g+= ! b]lv ( 130000.00 
 39 dw];L d'l:nd / lk58f ju{sf nflu afv|f kfng ;6f;f6 tflnd j8f g+= ! b]lv ( 180000.00 
 40 dw];L d'l:nd / lk58f ju{sf nflu u/uxgf agfpg] tflnd j8f g+= ! b]lv ( 130000.00 
 41 dw];L d'l:nd / lk58f ju{sf nflu vfgf ksfpg] tflnd j8f g+= ! b]lv ( 100000.00 
 42 dw];L d'l:nd / lk58f ju{sf nflu l;nfO{ s6fO{ lg/Gt/tf j8f g+= ! b]lv ( 100000.00 
 

 
   

@= cfly{s ;fdflhs tyf ef}lts ;'wf/ @= cfly{s ;fdflhs tyf ef}lts ;'wf/ @= cfly{s ;fdflhs tyf ef}lts ;'wf/ @= cfly{s ;fdflhs tyf ef}lts ;'wf/ sfo{qmdsfo{qmdsfo{qmdsfo{qmd    14040000.0014040000.0014040000.0014040000.00    
 1 nf]stflGqs dfu{ O{GbL/f vgfn 3/ 5]p sNe6{ lgdf{0f ljtf{df]8 g=kf= ! 560000.00 
 2 xg'dfg gu/ b]lv cGgk"0f{ xn hfg] af6f]df sNe6{ lgdf{0f ljtf{df]8 g=kf= ! 500000.00 
 3 k"/fgf] oftfot x'b} j8f g+= * af6f]df Knd tyf u|Fe]n ljtf{df]8 g=kf= ! 500000.00 
 

4 ;fd"bflos ljBFnox?sf] ef}lts lgdf{0f - >L jL/ cd/ l;+x df=lj=, >L df]xgdfof df=lj=, >L 
;fª\uj] ;+:s[t df=lj=_ ljtf{df]8 g=kf=@ 560000.00 

 5 ;fu/ dfu{df kg]{ kSsL sNe6{ lgdf{0f ljtf{df]8 g=kf=@ 500000.00 
 6 6+s uf}tdsf] 3/ 5]p sNe{6 lgdf{0f ljtf{df]8 g=kf=@ 500000.00 
 

7 j8f g+= @, # sf] lu/L ufp hfg] af6f]sf] sNe6{ b]lv g]q 9'+u]nsf] 3/ 5]p x'b} sGsfO{ g=kf= hf]8g] 
af6f] u|Fe]n ljtf{df]8 g=kf=# 500000.00 

 8 /fwfs[i0f dGbL/ b]lv ;"o{ KnfO{ pBf]u ;Dd hf]8\g] af6f]df u|Fe]n dd{t tyf w/w/]df sHj] lgdf{0f ljtf{df]8 g=kf=# 1060000.00 
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9 cb'jf vf]nfaf6 r}t'jf/L ahf/;Dd / s'dfnjf8Laf6 lrof jufg t]h' jb]{jfsf] 3/ x'b}  cb'jf k'n;Dd 
hfg] af6f] :t/f]GgtL tyf u|Fe]n  ljtf{df]8 g=kf=$ 520000.00 

 10 3fu|fvf]nf t6jGwg / k+r/Tg dfu{df sNe6{ lgdf{0f ljtf{df]8 g=kf=$ 520000.00 
 11 k+r/Tg df=lj= ef}lts lgdf{0f tyf ahf/ Joj:yfkg ljtf{df]8 g=kf=$ 520000.00 
 12 u0f]z d]r]sf] 3/ b]lv blIF0f tljnjf8L x'b} j8f g+= & ;Dd af6f] u|fe]n / x\o'dkfO{k lgdf{0f ljtf{df]8 g=kf=% 500000.00 
 13 lji0f' a/fnsf] 3/ k"j{ sfe|] k}gL -w/w/]_ x\o'dkfO{k / af6f] u|Fe]n ljtf{df]8 g=kf=% 500000.00 
 14 a'§faf/L hfg] af6f]sf] /]vf vf]nf t6aGwg tyf af6f] lj:tf/ ljtf{df]8 g=kf=% 560000.00 
 15 a'4gu/ 6f]n ljsf; ;ldlt sfof{no cuf8Lsf] af6f] :t/f]GgtL ljtf{df]8 g=kf=^ 500000.00 
 16 ;'Aafrf]saf6 ls/ft rf]s x'b} a;kfs{ hf]8\g] ;d[l4 dfu{ :t/f]GgtL ljtf{df]8 g=kf=^ 560000.00 
 17 kflye/f 6f]nsf] # g+= /f]8 u|Fe]n ljtf{df]8 g=kf=^ 500000.00 
 

18 
klZrd a; :6]08af6 blIf0f ;]G6/ KjfO{G6 kf6L{ Kofn]; Pdfn] kf6L{ sfof{no x'b} eb|k'/ /f]8 hf]8\g] 
af6f] u|Fe]n, gfnf lgdf{0f tyf sfnf]kq] ljtf{df]8 g=kf=& 560000.00 

 19 j8f g+= & k'/fgf] ljh'nL clkm;af6 306Laf/L hfg] af6f]df ljB't lj:tf/ ljtf{df]8 g=kf=& 500000.00 
 

20 
xs{nfn dfu{-;lxb /fd dfu{_ af6 sNkgf /Dt]n rGb| v/]nsf] 3/ x'b} :ofn8fuL hfg] af6f] u|fe]n tyf 
:t/f]GgtL ljtf{df]8 g=kf=& 500000.00 

 21 ljtf{ahf/af6 eujfg rf]s cfpg] af6f] gfnf ;lxt sfnf]kq]  ljtf{df]8 g=kf=* 1560000.00 
 

22 
j8f g+= ( sf] ljtf{ahf/df /x]sf] uf];nfOg Joj:yfkg  
 ljtf{df]8 g=kf=( 1560000.00 

 #= k|j4{gfTds ljsf; sfo{qmd tyf of]hgf #= k|j4{gfTds ljsf; sfo{qmd tyf of]hgf #= k|j4{gfTds ljsf; sfo{qmd tyf of]hgf #= k|j4{gfTds ljsf; sfo{qmd tyf of]hgf     9360000.009360000.009360000.009360000.00    
 1 zx/L :jf:Yo s]Gb| Joj:yfkg ljtf{df]8 g=kf= ! 100000.00 
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2 
k"j{ zfGtL6f]n k|]d lk|l6ª k|]z w|'j lzjfsf]6Lsf] 3/ x'b} j|FO6/ af]l8ª hfg] 3gZofd e§/fO{sf] 3/ 
k"j{af6 nIdL e§/fO{sf] 3/ pQ/ x'b} zlgch'{g l;dfgf ;Dd u|fe]n ljtf{df]8 g=kf= ! 100000.00 

 3 ;"o{ gu/ rf]s pQ/ k"j{ sdn 9sfnsf] 3/ blIf0f sfhL rf}xfgsf] 3/sf] af6f] u|fe]n ljtf{df]8 g=kf= ! 100000.00 
 

4 
kfl/hft 6f]n kmlg{r/ pBf]uaf6 k"j{ kbdf clwsf/Lsf] 3/ blIf0f lg/f cfrfo{sf] 3/ / afNdLsL 
blIf0f uf}/L ufp ;fO{jfjf 6f]nsf] k"j{sf] af6f] u|fe]n ljtf{df]8 g=kf= ! 100000.00 

 
5 

lwdfn j:tLsf] ;Gtf]ifL dftf dGbL/ klZrd ljdnf lj=s= sf] ufpsf] af6f] u|fe]n dd{t ljtf{df]8 g=kf= ! 100000.00 
 

6 huta:tL b'uf{dlGb/ blIf0f od clwsf/Lsf] 3/ hfg] / l8NnL dxt/fsf] 3/ k"j{ /ljGb| cfrfo{sf] 
3/ k"j{ dx]Gb| lwdfnsf] ufp hfg] af6f] ue]n dd{t ljtf{df]8 g=kf= ! 100000.00 

 
7 nIdL kDk klZrd l;tf ltlD;gfsf] 3/ / 8Da/ a:g]tsf] 3/ af6 klZrd ch"{g a:g]tsf] 3/af6 

klZrsfs] af6f] / pQ/df /fd v/]nsf] tyf d}of a:g]tsf] 3/ hfg] af6f] u|Fe]n ljtf{df]8 g=kf= ! 140000.00 
 

8 k|ult dfu{ /fd l;6f}nf sf] 3/ x'b} blIF0f o"j/fh rf}xfgsf] 3/ klZrd ;'wf d]l8sf] k"j{ af6f] u|Fe]n  ljtf{df]8 g=kf= ! 100000.00 
 

9 
;Gtf]if /fptsf] 3/ k"j{ ?kf du/sf] 3/ / kf/; tfdfªsf] 3/ 5]paf6 blIF0f s]zj kf]v/]nsf] 3/ 
hfg] af6f] u|Fe]n  ljtf{df]8 g=kf= ! 100000.00 

 10 j8f gful/s d~rsf ;b:ox?sf] IFdtf a[l4 ljsf; ;fdflhs kl/rfng sfo{qmd ljtf{df]8 g=kf= ! 50000.00 
 11 ljtf{df]8 ;/;kmfO{ ;ldlt dfkm{t j8f g+= ! sf] ;/;kmfO{ sfo{qmd ljtf{df]8 g=kf= ! 50000.00 
 12 ;fª\uj]b ;f:s[t df=lj= pQ/ af6f]df sNe6{ lgdf{0f ljtf{df]8 g=kf= @ 140000.00 
 13 ljgf]b kf]v/]nsf] 3/ blIf0f l;tf/fd 9'+u]nsf] 3/ x'b} hfg] af6f]df u|fe]n ljtf{df]8 g=kf= @ 140000.00 
 14 k|]d kf}8]nsf] 3/ 5]p af6f]df sNe6{ lgdf{0f ljtf{df]8 g=kf= @ 140000.00 
 15 ;fª\ufj]b df=lj= b]lv klZrd lu/L ufp hfg] af6f]df u|fe]n-nfn a= lu/L ufp_ ljtf{df]8 g=kf= @ 90000.00 
 16 3gZofd bfxfnsf] 3/ 5]p af6f]df sNe6{ lgdf{0f ljtf{df]8 g=kf= @ 50000.00 
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17 lIflth gf6\o ;d'xsf] ;r]tgf d'ns sfo{qmd ljtf{df]8 g=kf= @ 100000.00 
 18 j8f g+= @ sf] afsL /x]sf] 7fpdf ljB'tLs/0f h8fg ljtf{df]8 g=kf= @ 190000.00 
 19 :jf:Yo rf}sL rf/kfg] ljtf{df]8 g=kf= @ 50000.00 
 20 rf/kfg] /fhu9 ;8s v08 k"j{ lhjg ahufO{sf] 3/ x'b} jfgfnfn dfu{ hf]8\g] af6f]df u|fe]n ljtf{df]8 g=kf= @ 140000.00 
 21 >L jL/ cd/ l;+x df=lj= ef}lts lgdf{0f ljtf{df]8 g=kf= # 200000.00 
 22 ;'ne s[lif k;n- ljp ljhg dn vl/b_ ljtf{df]8 g=kf= # 100000.00 
 23 j8f gful/s d~rsf ;b:ox?sf] IFdtf a[l4 ljsf; ;fdflhs kl/rfng sfo{qmd ljtf{df]8 g=kf= # 50000.00 
 24 rf/kfg] :jf:Yo rf}sL cf}iflw pks/0f tyf sfof{no Joj:yfkg ;d]t ljtf{df]8 g=kf= # 140000.00 
 25 /fdrf]s s'dfnjf/L ;8s j8f g+= # v08 u|Fe]n dd{t ljtf{df]8 g=kf= # 100000.00 
 26 nfnLu'/f; ;fd"bflos ljsf; s]Gb| ef}lts lgdf{0f ljtf{df]8 g=kf= # 100000.00 
 27 gu/ Plss[t d"n s[lif ;d"x- A.I sfo{qmd_ ljtf{df]8 g=kf= # 100000.00 
 28 >L x/L ;fd"bflos ljsf; s]Gb| 3]/fa]/f ljtf{df]8 g=kf= # 100000.00 
 29 k"iknfn ;]8fO{sf] 3/ b]lv k"j{ hfg] af6f] u/fdgL ( hf]8\g] af6f] dd{t ljtf{df]8 g=kf= # 100000.00 
 30 nfndf6L o"jf SNj Joj:yfkg ljtf{df]8 g=kf= # 50000.00 
 

31 
g}gf 6f]n aufg ;Dd u|Fe]n / dgf]h /fO{sf] 6f]n;Dd / s'dfnaf8L rf]sdf lj>fdfno / vfg]kfgL 
6\o"a]n -! ;]6_ ljtf{df]8 g=kf= $ 80000.00 

 32 s[lif ;DaGwL ;a} sfo{qmd -d"n s[ifs, hghfu|LtL ;dfh_ ljtf{df]8 g=kf= $ 75000.00 
 33 lqj]0fL 6f]n klZrd xs{ a= sfsL{sf] /fpt 6f]n ;Dd ;8s dd{t ljtf{df]8 g=kf= $ 50000.00 
 34 o"jfx?sf] v]ns'b ;fdu|L vl/b-;f]daf/] / r}t'jf/L_ ljtf{df]8 g=kf= $ 100000.00 
 35 nlv/fd x]d/dsf] 6f]naf6 ;f]daf/] hf]8\g] ;8s dd{t ljtf{df]8 g=kf= $ 50000.00 
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36 :jf:Yo rf}sL rf/kfg]sf] cf}ifwL pks/0f vl/b tyf sfof{no Joj:yfkg ljtf{df]8 g=kf= $ 50000.00 
 37 ;f]daf/] ;fd"bflos ejg lgdf{0f / ;f]daf/] afn ljsf;;Dd ef}lts lgdf}0f  ljtf{df]8 g=kf= $ 150000.00 
 38 ;f]daf/] pQ/, / ;f]daf/] blIf0f @ :yfgdf af6f] u|Fe]n tyf dd{t ljtf{df]8 g=kf= $ 80000.00 
 39 ;'ne s[lif k;n- ljp ljhg dn vl/b_ ljtf{df]8 g=kf= $ 80000.00 
 

40 gjb'uf{ dGbL/df ;fd"bflos ejg lgdf{0f tyf a/kfv|L lkkn ;dfh ;fdu|L vl/b tyf /fhj+zL ltg 
:gfg 3/ lgdf{0f ljtf{df]8 g=kf= $ 175000.00 

 41 s[i0f a= Gof}kfg]sf] 3/ pQ/ elu/y lzjfsf]6Lsf] 3/ 5]p t6aGwg ljtf{df]8 g=kf= $ 50000.00 
 42 cd/bLk afw k}gL dd{t ;Def/ ljtf{df]8 g=kf= $ 100000.00 
 43 l;+x b]j hnsGof dfu{ b]lv >L l;+x b]jL hnsGoff dlGb/df hfg] af6f] dd{t  ljtf{df]8 g=kf= % 50000.00 
 44 u/fdgL hfg] /]vf vf]nf t6aGwg  ljtf{df]8 g=kf= % 50000.00 
 45 sfnLsf 6f]n If]q leq /x]sf af6f] dd{t tyf vfN6f] k'g{ ljtf{df]8 g=kf= % 50000.00 
 46 v]ns'b d}bfg lgdf{0f ljtf{df]8 g=kf= % 100000.00 
 47 j8f gful/s d~r tyf ;fdflhs kl/rfng sfo{qmdsf nflu Ifdtf j[l4 ljtf{df]8 g=kf= % 90000.00 
 48 j+u'/ kmf/d -k|ult j|u'/ kmf/d_ :t/f]GgtL ljtf{df]8 g=kf= % 50000.00 
 49 v]ns'bsf nflu ;fdu|L ljtf{df]8 g=kf= % 50000.00 
 50 vu]Gb| ltlD;gfsf] 3/ b]lv z'en rf}w/Lsf] 3/ ;Ddsf] af6f] u|Fe]n ljtf{df]8 g=kf= % 50000.00 
 51 lnDa' hfltsf] dfªlxd lgdf{0f ljtf{df]8 g=kf= % 100000.00 
 52 ls/ft /fO{ ofof]Svfsf] ejg lgdf{0f ljtf{df]8 g=kf= % 100000.00 
 53 l;4]v/L ejg lgdf{0f ljtf{df]8 g=kf= % 100000.00 
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54 l;SdLd]sf] 3/ k"j{ l/hfn 6f]n hfg] k}gL lgdf{0f ljtf{df]8 g=kf= % 50000.00 
 55 ;'Gb/ gu/ 6f]n tyf ;'ud zflGt gu/ 6f]n ljsf;  ljtf{df]8 g=kf= % 100000.00 
 56 s[lif k|j{4g sfo{qmd ljtf{df]8 g=kf= % 100000.00 
 57 lxdfno dfu{ u|fe]n ljtf{df]8 g=kf= ^ 100000.00 
 58 af}4dfg dfu{ u|Fe]n ljtf{df]8 g=kf= ^ 100000.00 
 59 cf]d a'4 6f]n dfu{ u|Fe]n ljtf{df]8 g=kf= ^ 100000.00 
 60  afnfhL 6f]n cu|;]g pQ/ zlgZr/] /f]8 klZrd u|fe]n ljtf{df]8 g=kf= ^ 100000.00 
 61 sf]x]8 sn]h /f] ;tfg' k}gLsf] l8n}l8n ;u/dfyf 6f]n hfg] af6f] u|Fe]n ljtf{df]8 g=kf= ^ 100000.00 
 62 ld8n KjfOG6 k"j{af6 blIf0f x'b} b]udfof /fO{sf] 3/ hfg] af6f] u|fe]n ljtf{df]8 g=kf= ^ 100000.00 
 63 OGb|]gL 6f]naf6 d';/ j:tL hfg] af6f] u|fe]n ljtf{df]8 g=kf= ^ 100000.00 
 64 nfOG; Snjjf6 blIf0f hfg] af6f] u|Fe]n ljtf{df]8 g=kf= ^ 100000.00 
 65 j8f gful/s d~rsf] Ifdtf cljj[l4 / hu/0f jftfj/0f g]kfn dfkm{t ;r]tgf d'ns xf]l8ª af]8{ ljtf{df]8 g=kf= ^ 140000.00 
 66 ls/ft /fO{ ofof]Svf k|F/lDes ;ldlt ejg lgdf{0f ljtf{df]8 g=kf= ^ 100000.00 
 67 j8f g+= & df /x]sf clt cfjZos af6f]x?df u|fe]n ljtf{df]8 g=kf= & 300000.00 
 68 clt cfjZos :yfgx?df ljB'lts/0f ljtf{df]8 g=kf= & 250000.00 
 69 j8f gful/s d~rsf] Ifdtf clej[l4 tyf g]t[Tj ljsf; sfo{qmd ljtf{df]8 g=kf= & 100000.00 
 70 wfld{s :yn k|j4gsf nflu ljtf{df]8 g=kf= & 100000.00 
 71 h]i7 gful/s ;|/If0f tyf wfld{s :yn e|d0f ljtf{df]8 g=kf= & 150000.00 
 72 ;'Gb/ ;fd'bflos k|x/L ;\jf s]Gb| ejg dd{t ;+ef/ ljtf{df]8 g=kf= & 50000.00 
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73 s/];fjf/Ldf cuf{lgs ;JhL v]lt ;DaGwL tflnd sfo{qmd ljtf{df]8 g=kf= & 50000.00 
 74 cGgk"0f{ rf]s k"j{ 6«]g dd{t ljtf{df]8 g=kf= & 40000.00 
 75 gof 6f]n af6f] :t/f]GgtL  ljtf{df]8 g=kf= * 300000.00 
 76 j8f g+= * sf clt cfjZos :yfgdf af6f] u|fe]n ljtf{df]8 g=kf= * 400000.00 
 77 cb'jf vf]nf s6fg lgoGq0f ljtf{df]8 g=kf= * 340000.00 
 78 lj/f6 ;fd'bflos cWoog s]Gb|sf] Joj:yfkg ljtf{df]8 g=kf= ( 100000.00 
 79 cgf/dgL klAns SofDk; cw'/f] ejg lgdf{0f ljtf{df]8 g=kf= ( 300000.00 
 80 cfbz{ 6f]n / cfkmGt 6f]ndf ljB't lj:tf/ ljtf{df]8 g=kf= ( 140000.00 
 81 :jfut rf]saf6 blIF0f t]nsfgL hf]8g] af6f]df sHj] lgdf{0f ljtf{df]8 g=kf= ( 100000.00 
 82 v]ns'b sfo{qmd  ljtf{df]8 g=kf= ( 100000.00 
 83 db/;fsf] nflu ljtf{df]8 g=kf= ( 100000.00 
 84 >L dx]Gb| /Tg pRr df=lj= ljtf{df]8 g=kf= ( 200000.00 
 

 
  

 
                                  gu/:t/Lo ah]6af6 ;+rfng ug]{ of]hgfx?gu/:t/Lo ah]6af6 ;+rfng ug]{ of]hgfx?gu/:t/Lo ah]6af6 ;+rfng ug]{ of]hgfx?gu/:t/Lo ah]6af6 ;+rfng ug]{ of]hgfx?----    )&$÷)&%_)&$÷)&%_)&$÷)&%_)&$÷)&%_                                                                            ?=?=?=?=    

 1 b}lj k|sf]k tyf ljkt Joj:yfkg 2000000.00 
 2 cb'jf vf]nf ;+/If0f tyf jftfj/l0fo Joj:yfkg -qmdfut_ 2000000.00 
 3 ljtf{df]8 g=kf= $ bfxfn vf]N;Ldf sNe6{ lgdf{0f-zlxb k|lti7fg k"j{_ 700000.00 
 4 >L xl/ ;fd'bflos ejg lgdf{0f 100000.00 
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5 eb|k'/ /f]8 klZrd Pdfn] lhNnf kfl6{ sfof{no hfg] af6f]sf] :t/f]GgtL 1000000.00 
 6 jfgfnfn dfu{ :t/f]GgtL 400000.00 
 7 xf]08f ;f]?d klZrd afnu|fd ckf+u hfg] af6f] :t/f]GgtL 200000.00 
 8 kqsfl/tf  Ifdtf ljsf; tflnd 200000.00 
 9 ljtf{df]8 pBf]u jfl0fHo ;+3sf] Joj:yfkg ;'wf/ 250000.00 
 10 cn}+rL dxf ;+3sf] ;+:yfut ljsf; 100000.00 
 11 :yfgLo ;'/Iff lgsfox?sf] Joj:yfkg ;'wf/ 150000.00 
 12 snsfl/tf ljsf;sf nflu gf6\o lIflth ;d'x 200000.00 
 13 gf/L ;+rfl/sf u[x emfkf 50000.00 
 14 u}=;=;+ dxf ;+3 Ifdtf clej[l4 sfo{qmd 75000.00 
 15 s[lif cu]{lgs t/sf/L v]lt 1000000.00 
 16 cgf/dgL k|fylds ljBfnosf] ef}lts k"jf{wf/ ljsf; 100000.00 
 17 xg'dfg dlGb/ Joj:yfkg 100000.00 
 18 ljtf{df]8 g=kf= & sGrGh+3f dfu{ dlgtf b'nfnsf] 3/ blIf0f ljB't lj:tf/ 150000.00 
 19 e':ofxf s's'/ jGWofs/0f tyf Joj:yfkg 200000.00 
 20 u[g a]N6 j[Iff/f]k0f sfo{qmd 600000.00 
 21 dfnkf]t sfof{no eb|k'/ Joj:yfkg vr{ 150000.00 
 22 6f]n ljsf; u7g tyf ;+rfng  500000.00 
 23 jftfj/0f d}qL emf]nf pTkfbg tflnd sfo{qmd 300000.00 
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24 gu/:t/Lo  afnd}qL :yfgLo zf;g sfo{qmd ;+rfng ug{ 1800000.00 
 25 v'Nnf lbzfd'Qm If]q -ODF_ sfo{qmd 500000.00 
 26 wfld{s tyf ko{6sLo :yfgx?sf] ;Dj4{g tyf ;+/If0f  700000.00 
 27 rf/kfg] j8f sfof{no klZrd j]nf vf8L w/w/]  afw lgdf{0f 200000.00 
 28 zxLb tyf j]kTtf kl/jf/sf] Ifdtf ljsf; 200000.00 
 29 /]vf vf]nf s6fg lgoGq0f  200000.00 
 30 rf/kfg] ;fd'bflos ejg lgdf{0f 500000.00 
 31 uf]e]Gb| sn]h k"j{ klZrd xs{nfn dfu{ / oftfoft sfof{no hf]8\g] af6f] 500000.00 

32 dlxnf lx\;f lj?4 ;r]tgf sfo{qmd dlxng Goflos s]Gb| 200000.00 
 33 l;dfGts[t ;d'bfonfO{ l;k d'ns tflnd - pT;flxt dlxnf d+r g]kfn ljtf{df]8 ^_ 200000.00 
 34 nfu' cf}ifw lj?b ljBfno lzIff sfo{qmd 150000.00 
 35 ljtf{df]8 ( df /x]sf] ;tfg'l;+x k|lti7fgsf] jfn sDkfp08 3]/faf/f 200000.00 
 36 h]i7 gful/s lty{ofqL ;dfh ljtf{df]8 100000.00 
 

hDdfhDdfhDdfhDdf    15875000.00 
   gu/If]q k"jf{wf/ ljsf; sfo{qmd s]Gb|Lo cg'bfggu/If]q k"jf{wf/ ljsf; sfo{qmd s]Gb|Lo cg'bfggu/If]q k"jf{wf/ ljsf; sfo{qmd s]Gb|Lo cg'bfggu/If]q k"jf{wf/ ljsf; sfo{qmd s]Gb|Lo cg'bfg----cf=a= )&$÷)&%_cf=a= )&$÷)&%_cf=a= )&$÷)&%_cf=a= )&$÷)&%_    
 1 lnnf a:g]tsf] 3/ k"j{ d]rL oftfoft ;+3 hfg] af6f] gfnf lgdf{0f tyf sfnf] kq] 2500000.00 

 2 lxsf]nf a'waf/] ahf/ x'b} dfxgGb rf]s hfg] af6f] gfnf lgdf{0f tyf sfnf] kq] 1283000.00 

3 lxdfno wdf{sf6f pQ/ k"j{ /fd cfrfo{sf] 3/ x'b} ;'ud k]6«f]n kDk hfg] af6f] gfnf lgdf{0f tyf sfnf] kq] 2500000.00 
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4 ljtf{df]8 ^ s+rgh+3f dfu{ hf]8\g] af6f] gfnf lgdf{0f tyf sfnf] kq] 2500000.00 
 5 xs{nfn dfu{ gfnf lgdf{0f tyf sfnf]kq] 2500000.00 

6 ljtf{df]8 g=kf= * ;'o{ gu/ af6f] :t/f]GgtL gfnf lgdf{0f tyf sfnf]kq] 2500000.00 
 7 zlgZr/] /f]8af6 k"j{ kf/; d}gfnLsf] 3/ x'b} a; kfs{ hf]8g] af6f] :t/f]GgtL 2500000.00 
 hDdf  16283000.00 
 

 
 7"nf k"jf{wf/ ljsf; sfo{qmd s]lGb|o cg'bfg7"nf k"jf{wf/ ljsf; sfo{qmd s]lGb|o cg'bfg7"nf k"jf{wf/ ljsf; sfo{qmd s]lGb|o cg'bfg7"nf k"jf{wf/ ljsf; sfo{qmd s]lGb|o cg'bfg    
 1 ;/:jtL df=lj=a'§faf/Laf6 klZrd ljtf{ahf/ cfpg] x'nfsL dfu{ gfnf lgdf{0f tyf sfnf]kq] qmdz      10000000.00  

 
    

    
 

kmf]xf]/d}nf Joj:yfkgkmf]xf]/d}nf Joj:yfkgkmf]xf]/d}nf Joj:yfkgkmf]xf]/d}nf Joj:yfkg    
 

 

1 hUuf vl/b -Nof08lkmN8 ;fO8_ 
 

7500000.00 
 

 

    
    

 
    

;dk"/s sfo;dk"/s sfo;dk"/s sfo;dk"/s sfo {{ {{(Matching Fund)    
 

 

1 ;f}o{ ;8sjQL, ;8s jf]8{ g]kfn, s]lGb|o :t/sf k"jf{wf/ ljsf; sfo{qmd tyf cGo 
ljifout sfof{nox? ;+usf] ;xsfo{sf nflu 

 
20000000.00 
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;8sjf]8{ g]kfn;8sjf]8{ g]kfn;8sjf]8{ g]kfn;8sjf]8{ g]kfn     

1 6]s axfb'/ lu/L a;kfs{ klZrd k|j]zdfu{ dd{t 2000000.00 
 

 

 
 

 

cf=a= )&#÷)&$ sf] ;+zf]lwt sfof{qmdcf=a= )&#÷)&$ sf] ;+zf]lwt sfof{qmdcf=a= )&#÷)&$ sf] ;+zf]lwt sfof{qmdcf=a= )&#÷)&$ sf] ;+zf]lwt sfof{qmd    
 

 

1 ;f}o{ ;8sjQLsf] ut cf=a= sf] e'QmfgL x'g afsL   40058000.00 
 

 

2 g]kfn ;/sf/af6 cg'bfg k|fKt   4772000.00 
 

 

3 gu/kflnsfsf] ljlgof]hg   3000000.00 
 

 

4 gu/kflnsf gk"u e'QmfgLsf nflu ;+zf]lwt ljlgof]hgf   32286000.00 
 

 

5 jftfj/0f d}qL emf]nf tflnd sfof{qmd   200000.00 
 

 

6 dfnkf]t sfof{nosf] Joj:yfkg ;'wf/   150000.00 
 

 

7 wfld{s tyf ko{6sLo :yfgx?sf] ;Dj4{g tyf ;+/If0f   500000.00 
 

 

8 hUuf vl/b -Nof08lkmN8 ;fO8_   5000000.00 
 

 

hDdf -l;=g+= $ b]lv * ;Dd_   38136000.00 
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            %=lhNnf÷s]Gb| :t/sf] ah]6af6 ;+rfng x'g dfu ul/Psf of]hgf÷sfo{qmdx? %=lhNnf÷s]Gb| :t/sf] ah]6af6 ;+rfng x'g dfu ul/Psf of]hgf÷sfo{qmdx? %=lhNnf÷s]Gb| :t/sf] ah]6af6 ;+rfng x'g dfu ul/Psf of]hgf÷sfo{qmdx? %=lhNnf÷s]Gb| :t/sf] ah]6af6 ;+rfng x'g dfu ul/Psf of]hgf÷sfo{qmdx?                                                                                                                                                         cg';"rL *cg';"rL *cg';"rL *cg';"rL *    

l;=g+= ef}lts k"j{wf/ tkm{ 7]ufgf7]ufgf7]ufgf7]ufgf    

1 nf]s gfy rfkfufO{sf 3/ klZrd cw'jf vf]nfdf kSsL k'n lgdf[0f ljtf{df]8 g=kf= !ljtf{df]8 g=kf= !ljtf{df]8 g=kf= !ljtf{df]8 g=kf= !    

2 /fhdfu{ pQ/ lzj dlGb/ hut a:tL zlgch'[g hf]8g] jf6f]df gfnf lgd{0f ljtf{df]8 g=kf= !ljtf{df]8 g=kf= !ljtf{df]8 g=kf= !ljtf{df]8 g=kf= !    

3 krsGof wd{sf6f pQ/ >Lh+3f lji0f' rf}t/f pQ/ x'b} zlgch'{g hfg] af6f] nf]stflGqs dfu{ sfnf]kq] ljtf{df]8 g=kf= !ljtf{df]8 g=kf= !ljtf{df]8 g=kf= !ljtf{df]8 g=kf= !    

4 krsGof wd{sf6f pQ/ >Lh+3f lji0f' rf}t/f pQ/ x'b} zlgch'{g hfg] af6f] sfnf]kq] ljtf{df]8 g=kf= !ljtf{df]8 g=kf= !ljtf{df]8 g=kf= !ljtf{df]8 g=kf= !    

5 zlg dlGb/ pQ/af6 j8f g+= ^hf]8g] vf]nfdf kSsL k'n lgdf{0f ljtf{df]8 g=kf= !ljtf{df]8 g=kf= !ljtf{df]8 g=kf= !ljtf{df]8 g=kf= !    

6 j8f g+=! el/df cw'jf vf]nfdf t6aGwg ljtf{df]8 g=kf= !ljtf{df]8 g=kf= !ljtf{df]8 g=kf= !ljtf{df]8 g=kf= !    

7 b]ljk+rsGof pQ/ zlgch'g hf]8g] af6f] u|fe]n tyf gfnf  ljtf{df]8 g=kf= !ljtf{df]8 g=kf= !ljtf{df]8 g=kf= !ljtf{df]8 g=kf= !    

8 u+uf v/]nsf] 3/ x'b{ hut j:tL zflGt 6f]n hfg] af6f]df gfnf lgdf{0f lg/Gt/tf ljtf{df]8 g=kf= !ljtf{df]8 g=kf= !ljtf{df]8 g=kf= !ljtf{df]8 g=kf= !    

9 lht]Gb| rf}w/Lsf] 3/ pQ/ blIf0f kflyef/f dlGb/ ;Dd gfnf lgdf{0f ljtf{df]8 g=kf= !ljtf{df]8 g=kf= !ljtf{df]8 g=kf= !ljtf{df]8 g=kf= !    

10 g]kfn tfdfª 3]Gb'ª ;f+:s[lts ejg  lgdf{0f ljtf{df]8 g=kf= !ljtf{df]8 g=kf= !ljtf{df]8 g=kf= !ljtf{df]8 g=kf= !    

11 ls/ft ofSy'd r'Dn'ª ;+:yf ejg lgdf{0f ljtf{df]8 g=kf= ljtf{df]8 g=kf= ljtf{df]8 g=kf= ljtf{df]8 g=kf= !!!!    

12 dlxnfx?sf] nflu l;nfO s6fO a'l6s tyf g]t[Tj, sfg'gL k|:tfjgf tflndsf]  ljtf{df]8 g=kf= !ljtf{df]8 g=kf= !ljtf{df]8 g=kf= !ljtf{df]8 g=kf= !    

13 s[i0f dfu{df ;fO{ kflyef/f Knfhf hf]8\g] cb'jf vf]nfdf kSsL k'n ljtf{df]8 g=kf= !ljtf{df]8 g=kf= !ljtf{df]8 g=kf= !ljtf{df]8 g=kf= !    

14 emfkf KofK;gsf] ejg blIf0f l6sf k;f{O{sf] 3/ hf]8g] vf]N;Ldf sNe6{  ljtf{df]8 g=kf= !ljtf{df]8 g=kf= !ljtf{df]8 g=kf= !ljtf{df]8 g=kf= !    
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15 hut j:tL pQ/ zlgch'{g hf]8\g] af6f] sfnf]kq] ljtf{df]8 g=kf= !ljtf{df]8 g=kf= !ljtf{df]8 g=kf= !ljtf{df]8 g=kf= !    

16 u'Daf lgdf{0f ljtf{df]8 g=kf= !ljtf{df]8 g=kf= !ljtf{df]8 g=kf= !ljtf{df]8 g=kf= !    

17 

rf/kfg] ch'{gwf/f ljsf; ;dfh dfkm{t emfkf lhNnfsf] ljtf{df]8 g=kf= j8f g+= @ rf/kfg] ch'{gwf/f gul/nfO{ lhNnfs} gd'gf 
gul/ agfpg] pb]Zosf ;fy lzIFf, :jf:Yo, kof{j/0fLo tyf ;fdflhs Pstf / ;fd'lxs ljsf;sf nflu k~rjlif{o u'?of]hgf 
tof/ ul/ cfwf/e"t sfo{qmd ;+rfng ug{  ljtf{df]8 g=kf= @ljtf{df]8 g=kf= @ljtf{df]8 g=kf= @ljtf{df]8 g=kf= @    

18 /fdrf]s s'dfnjf8L ;8s sfnf]jq] ljtf{df]8 g=kf= @ljtf{df]8 g=kf= @ljtf{df]8 g=kf= @ljtf{df]8 g=kf= @    

19 ljtf{df]8 g=kf= j8f g+ @ rf/kfg]df jftfj/0f ;'wf/ tyf ljsf; sfo{qmd ;{rfng ug]{ ljtf{df]8 g=kf= @ljtf{df]8 g=kf= @ljtf{df]8 g=kf= @ljtf{df]8 g=kf= @    

20 lj/ cd/ l;+x df=j= ejg lgdf{0f  ljtf{df]8 g=kf= @ljtf{df]8 g=kf= @ljtf{df]8 g=kf= @ljtf{df]8 g=kf= @    

21 
ljtf{df]8  ! b]lv $ sf nlIft ju{x?sf dlxnfx?nfO{ l;k d'ns tflnssf] dfWodaf6 ;/f]huf/ agfpg dlxnf 9fsf a'gfO{ 
;fy }kl/jt{g ;fd'bflos l;sfO{ s]Gb| dfkm{t ;fIF/tf sfo{qmd ljtf{df]8 g=kf= @ljtf{df]8 g=kf= @ljtf{df]8 g=kf= @ljtf{df]8 g=kf= @    

22 s[i0f k|0fdL dlGb/ ejg lgdf{0f ljtf{df]8 g=kf= @ljtf{df]8 g=kf= @ljtf{df]8 g=kf= @ljtf{df]8 g=kf= @    

23 !^ jif{ d'lgsf afnaflnsfx?nfO{ km'6an cEof; u/fpg dfu ug]{ ljtf{df]8 g=kf= @ljtf{df]8 g=kf= @ljtf{df]8 g=kf= @ljtf{df]8 g=kf= @    

24 xl/ofnL s[lif ;d'x j8f g+= @ tflnd, e|d0f tyf cGt/s[of ljtf{df]8 g=kf= @ljtf{df]8 g=kf= @ljtf{df]8 g=kf= @ljtf{df]8 g=kf= @    

25 rf/kfg] /fhu9 ;8s sfnf]kq] ljtf{df]8 g=kf= @ljtf{df]8 g=kf= @ljtf{df]8 g=kf= @ljtf{df]8 g=kf= @    

26 Pstf dfu{ sfnf]kq] lg/Gt/tf ljtf{df]8 g=kf= @ljtf{df]8 g=kf= @ljtf{df]8 g=kf= @ljtf{df]8 g=kf= @    

27 ;fdbflos ejg rf/kfg] rf]s lgdf{0f ljtf{df]8 g=kf= @ljtf{df]8 g=kf= @ljtf{df]8 g=kf= @ljtf{df]8 g=kf= @    

28 k|;fO{ ufp klZrd 3fu|f v]f]nf k'n lgdf{0f lg/Gt/tf ljtf{df]8 g=kf= @ljtf{df]8 g=kf= @ljtf{df]8 g=kf= @ljtf{df]8 g=kf= @    
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29 k|]d kf}8]nsf] 3/ blIf0f sNe{6 lgdf{0f ljtf{df]8 g=kf= @ljtf{df]8 g=kf= @ljtf{df]8 g=kf= @ljtf{df]8 g=kf= @    

30 afn'jf6f/ glhs /x]sf] 3fu|f vf]nfdf k'n lgdf{0f lg/Gt/tf ljtf{df]8 g=kf= @ljtf{df]8 g=kf= @ljtf{df]8 g=kf= @ljtf{df]8 g=kf= @    

31 ;fªa]b ;f+:s[t df=lj= ejg lgdf{0f ljtf{df]8 g=kf= @ljtf{df]8 g=kf= @ljtf{df]8 g=kf= @ljtf{df]8 g=kf= @    

32 >L df]xg dfof df=lj= ejg lgdf{0f ljtf{df]8 g=kf= @ljtf{df]8 g=kf= @ljtf{df]8 g=kf= @ljtf{df]8 g=kf= @    

33 >L x/L ;fd'bflos ljsf; s]Gb| ejg lgdf{0f ljtf{df]8 g=kf= #ljtf{df]8 g=kf= #ljtf{df]8 g=kf= #ljtf{df]8 g=kf= #    

34 Pstf dlxnf l;k ljsf; sfo{qmd cGtu{t nlIft dlxnf ju{nfO{ cfo d'ns tyf lzk d'ns sfo{qmd 9fsf a'gfO{ ljtf{df]8 g=kf= #ljtf{df]8 g=kf= #ljtf{df]8 g=kf= #ljtf{df]8 g=kf= #    

35 >L lj/ cd/ l;+x df=lj= ejg lgdf{0f  ljtf{df]8 g=kf= #ljtf{df]8 g=kf= #ljtf{df]8 g=kf= #ljtf{df]8 g=kf= #    

36 gu/ Plss[t d'n s[ifs ;d'x dfkm{t gZn ;'wf/ tyf s[lif ;DaGwL tflnd sfo{qmd ljtf{df]8 g=kf= #ljtf{df]8 g=kf= #ljtf{df]8 g=kf= #ljtf{df]8 g=kf= #    

37 km'naf/L af6 5nan 6f]n hfg] w/w/]df kSsL sNe6{ lgdf{0f\ ljtf{df]8 g=kf= #ljtf{df]8 g=kf= #ljtf{df]8 g=kf= #ljtf{df]8 g=kf= #    

38 ;}lgs df]8 af6 >L k|;fb kf7s /fh' rfDnLª sf] 3/ 5]p x'b} hfg] af6f]df sfnf] kq] lgdf{0f ljtf{df]8 g=kf= #ljtf{df]8 g=kf= #ljtf{df]8 g=kf= #ljtf{df]8 g=kf= #    

39 s5'jf/Laf6 km'naf/L hfg] af6f]df afnf]kq]  ljtf{df]8 g=kf= #ljtf{df]8 g=kf= #ljtf{df]8 g=kf= #ljtf{df]8 g=kf= #    

40 /fhu9 rf/kfg] ;8s v08 >L x/L ;fd"bflos ejg x'b} uf]s'n hf]zL hf]8g] af6f]df sfnf]kq]  ljtf{df]8 g=kf= #ljtf{df]8 g=kf= #ljtf{df]8 g=kf= #ljtf{df]8 g=kf= #    

41 /fdrf]s s'dfnjf8L hf]8g] ;8s sfnf]jq] ljtf{df]8 g=kf= #ljtf{df]8 g=kf= #ljtf{df]8 g=kf= #ljtf{df]8 g=kf= #    

42 uf]s'n hf]zL dfu{sf] rf}af6f]af6 3fu|f vf]nf;Dd !( yfgdf ljB't kf]n / tf/ k|;f/0f gePsf] n] tf/ / 6«fG;kmd/  ljtf{df]8 g=kf= #ljtf{df]8 g=kf= #ljtf{df]8 g=kf= #ljtf{df]8 g=kf= #    

43 >L lj/ cd/ l;+x df=lj=sf] @ sf]7f ejg lgdf{0f ljtf{df]8 g=kf= #ljtf{df]8 g=kf= #ljtf{df]8 g=kf= #ljtf{df]8 g=kf= #    

44 ;}lgs df]8af6 Gof}kfg] r]fs x'b} hfg] af6f]sf] ;tf/ j:tL 5]psf] k}gLdf k"n lgdf{0f ljtf{df]8 g=kf= #ljtf{df]8 g=kf= #ljtf{df]8 g=kf= #ljtf{df]8 g=kf= #    
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45 
ljtf{df]8 g=kf= j8f g+= ! b]lv j8f g+= $ ;Ddsf nlIft au{sf dlxnfx?nfO l;k d"ns tflndaf6 ;/f]huf/ agfpg dlxnf 9fsf 
a'gfO{ tflnd ljtf{df]8 g=kf= #ljtf{df]8 g=kf= #ljtf{df]8 g=kf= #ljtf{df]8 g=kf= #    

46 s[i0f kf7sfsf] 3/ k"j{af6f]df sNe6{ / ljw't kf]n ljtf{df]8 g=kf= #ljtf{df]8 g=kf= #ljtf{df]8 g=kf= #ljtf{df]8 g=kf= #    

47 
jf8{ g+= # sf] k"jL{ l;dfgf ;}lgsdf]8 af6 Gof}kfg] ufp x'b} ;tf/ ufp cuf8Lsf] af6f] t]nsfgL kf]v/L hf]8\g] af6f]df u|fe]n ;tf/ 
ufp cuf8L sNe6{ lgdf{0f ljtf{df]8 g=kf= #ljtf{df]8 g=kf= #ljtf{df]8 g=kf= #ljtf{df]8 g=kf= #    

48 zx/L :jf:Yo rf}sL ;+rfng  ljtf{df]8 g=kf= $ljtf{df]8 g=kf= $ljtf{df]8 g=kf= $ljtf{df]8 g=kf= $    

49 ljB't 6«fG;kmd/, xfO{6]G;gsf] dfu ug]{ ljtf{df]8 g=kf= $ljtf{df]8 g=kf= $ljtf{df]8 g=kf= $ljtf{df]8 g=kf= $    

50 >L k+r/Tg df=lj= v]n d{bfgsf] nflu hldg vl/b ljtf{df]8 g=kf= $ljtf{df]8 g=kf= $ljtf{df]8 g=kf= $ljtf{df]8 g=kf= $    

51 3fu|f vf]nf k"n lg/Gt/tf ljtf{df]8 g=kf= $ljtf{df]8 g=kf= $ljtf{df]8 g=kf= $ljtf{df]8 g=kf= $    

52 rf/kfg] /fhu9 zlxb dfu{ sfnf]kq] tyf gfnf lgdf{0f ljtf{df]8 g=kf= $ljtf{df]8 g=kf= $ljtf{df]8 g=kf= $ljtf{df]8 g=kf= $    

53 ;fdbflos ejg lgdf{0f ljtf{df]8 g=kf= $ljtf{df]8 g=kf= $ljtf{df]8 g=kf= $ljtf{df]8 g=kf= $    

54 u|fdL0f ;/f]sf/ ;d"x ejg 6«; yk ljtf{df]8 g=kf= $ljtf{df]8 g=kf= $ljtf{df]8 g=kf= $ljtf{df]8 g=kf= $    

55 ;f]daf/]df ;fd"bflos ejg lgdf{0f ljtf{df]8 g=kf= $ljtf{df]8 g=kf= $ljtf{df]8 g=kf= $ljtf{df]8 g=kf= $    

56 PDa'n]G;sf] nflu dfu ug]{ ljtf{df]8 g=kf= $ljtf{df]8 g=kf= $ljtf{df]8 g=kf= $ljtf{df]8 g=kf= $    

57 ;f]daf/] blIf0f sNe6{ lgdf{0f ljtf{df]8 g=kf= $ljtf{df]8 g=kf= $ljtf{df]8 g=kf= $ljtf{df]8 g=kf= $    

58 k+r/Tg df=lj= ef}lts lgdf{0f ljtf{df]8 g=kf= $ljtf{df]8 g=kf= $ljtf{df]8 g=kf= $ljtf{df]8 g=kf= $    

59 /fdrf]s s'dfnjf8L lrofjufg ;8s sfnf]kq] . ljtf{df]8 g=kf= $ljtf{df]8 g=kf= $ljtf{df]8 g=kf= $ljtf{df]8 g=kf= $    
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60 lqj]0fL r]s klZrd xs{ sfsL{sf] 3/ x'b} sGsfO{ g=kf= hf]8\g] af6f] u|Fe]n ljtf{df]8 g=kf= $ljtf{df]8 g=kf= $ljtf{df]8 g=kf= $ljtf{df]8 g=kf= $    

61 
ljtf{df]8 g=kf= j8f g+ ! b]lv j8f g+= $ sf nlIFt ju{sf dlxnfx?nfO{ lzk d"ns tflndsf] sfWodaf6 /f]huf/ agfpg 9fsf 
a'gfO{ tflnd ljtf{df]8 g=kf= $ljtf{df]8 g=kf= $ljtf{df]8 g=kf= $ljtf{df]8 g=kf= $    

62 ;f]daf/]v]n d}bfg 3]/faf/f ljtf{df]8 g=kf= $ljtf{df]8 g=kf= $ljtf{df]8 g=kf= $ljtf{df]8 g=kf= $    

63 lhtdfg lnDa'sf] 3/ x'b} klZrd :ofn8fuL hf]8\g] af6f] lgdf{0f ljtf{df]8 g=kf= %ljtf{df]8 g=kf= %ljtf{df]8 g=kf= %ljtf{df]8 g=kf= %    

64 d;n] s[lif ;xsf/Lsf ls;fgx?sf] nflu pGgt ljpljhg tyf kz'kfng ;DaGwL tflnd ljtf{df]8 g=kf= %ljtf{df]8 g=kf= %ljtf{df]8 g=kf= %ljtf{df]8 g=kf= %    

65 a'§faf/L kUnL e§L af6f] sfnf] kq] ljtf{df]8 g=kf= %ljtf{df]8 g=kf= %ljtf{df]8 g=kf= %ljtf{df]8 g=kf= %    

66 ;'ud k]6«f]n kDk klZrdaf6 blIf0f tkm{ x'nfsL dfu{ hf]8\g] ;'ud zfGtL tyf ;'Gb/ gu/ 6f]nsf] d'Vo af6f] gfnf ;lxt sfnf]kq]  ljtf{df]8 g=kf= %ljtf{df]8 g=kf= %ljtf{df]8 g=kf= %ljtf{df]8 g=kf= %    

67 ;/:jtL df=lj=af6 ;/:jtL af]l8{ª hfg] af6f] u|fe]n -;/:jtL dfu{_ ljtf{df]8 g=kf= %ljtf{df]8 g=kf= %ljtf{df]8 g=kf= %ljtf{df]8 g=kf= %    

68 z'ed k]6«f]n kDk klZrd x'nfsL dfu{df hf]8Lg] af6f] gfnf ;lxt sfnf]kq] ljtf{df]8 g=kf= %ljtf{df]8 g=kf= %ljtf{df]8 g=kf= %ljtf{df]8 g=kf= %    

69 tf]l; ;fs]nf e'dL yfg dlGb/sf] ;f+:s[lts ;+u|fxno ejg lgdf{0f ljtf{df]8 g=kf= %ljtf{df]8 g=kf= %ljtf{df]8 g=kf= %ljtf{df]8 g=kf= %    

70 5q lu/Lsf] 3/ klZrd w/w/] vf]nfdf kSsL k"n lgdf{0f ljtf{df]8 g=kf= %ljtf{df]8 g=kf= %ljtf{df]8 g=kf= %ljtf{df]8 g=kf= %    

71 a'§faf/L rf]s blIf0f nf]saGw' dfu{  gfnf lgdf{0f tyf sfnf]kq ljtf{df]8 g=kf= %ljtf{df]8 g=kf= %ljtf{df]8 g=kf= %ljtf{df]8 g=kf= %    

72 a;kfs{ 6«flkms r]s kf]i6 blIf0f :ofn8f+uL hfg] af6f] :t/f]GgtL ljtf{df]8 g=kf= %ljtf{df]8 g=kf= %ljtf{df]8 g=kf= %ljtf{df]8 g=kf= %    

73 xs{nfn dfu{ k"j{ cgf/dgL k|fylds ljBfno hfg] af6f] :t/f]GgtL ljtf{df]8 g=kf= %ljtf{df]8 g=kf= %ljtf{df]8 g=kf= %ljtf{df]8 g=kf= %    

74 l8Knf]df O{lGhlgo;{ P;f]l;Pzg g]kfn(DEAN) sf] k|fljlws k|lzIf0f ejg lgdf{0f ljtf{df]8 g=kf= %ljtf{df]8 g=kf= %ljtf{df]8 g=kf= %ljtf{df]8 g=kf= %    
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75 s[lifyf]s pQ/ df]xg kfx]dsf] 3/ k"j{ x'b} vfg]kfgL ;Dd hfg] af6f]-sGrgh+3f 6f]n /f]8 g+= &_ gfnf ;lxt sfnf]kq ljtf{df]8 g=kf= ^ljtf{df]8 g=kf= ^ljtf{df]8 g=kf= ^ljtf{df]8 g=kf= ^    

76 sgsfO{ /f]8af6 klZrd ';'ud rf]s x'b} lxsf]nf /f]8 hf]8\g] af6f]  -sGrgh+3f 6f]n /f]8 g+= $_ gfnf ;lxt sfnf]kq ljtf{df]8 g=kf= ^ljtf{df]8 g=kf= ^ljtf{df]8 g=kf= ^ljtf{df]8 g=kf= ^    

77 ;'Aafrf]s af6 ls/ft rf]s x'b} a;kfs{;Dd hf]8\g] af6f] -kz'klt dfu{_ gfnf ;lxt sfnf]kq ljtf{df]8 g=kf= ^ljtf{df]8 g=kf= ^ljtf{df]8 g=kf= ^ljtf{df]8 g=kf= ^    

78 gf}dtL afhf vl/b  tyf l6d lgdf{0f ljtf{df]8 g=kf= ^ljtf{df]8 g=kf= ^ljtf{df]8 g=kf= ^ljtf{df]8 g=kf= ^    

79 lk58f ju{sf] hgr]tgf d'ns /]l8of] sfo{qmd ljtf{df]8 g=kf= ^ljtf{df]8 g=kf= ^ljtf{df]8 g=kf= ^ljtf{df]8 g=kf= ^    

80 d';x/ j:tLdf zf}rfno lgdf{0f ljtf{df]8 g=kf= ^ljtf{df]8 g=kf= ^ljtf{df]8 g=kf= ^ljtf{df]8 g=kf= ^    

81 ;Gyfn ;d'bfosf] e]ife'iff vl/b ljtf{df]8 g=kf= ^ljtf{df]8 g=kf= ^ljtf{df]8 g=kf= ^ljtf{df]8 g=kf= ^    

82 yf?x?sf] e]ife'iff vl/b ljtf{df]8 g=kf= ^ljtf{df]8 g=kf= ^ljtf{df]8 g=kf= ^ljtf{df]8 g=kf= ^    

83 nfu'' cf}ifw b'j{Zog ;r]tgf d'ns sfo{qmd ljtf{df]8 g=kf= ^ljtf{df]8 g=kf= ^ljtf{df]8 g=kf= ^ljtf{df]8 g=kf= ^    

84 lwdfn jl:t gful/s ;r]tgf s]Gb|sf] Ifdtf clej[l4 ug{ pb\3f]if0f tflnd ljtf{df]8 g=kf= ^ljtf{df]8 g=kf= ^ljtf{df]8 g=kf= ^ljtf{df]8 g=kf= ^    

85 dlxnfx?sf] nflu of]u tyf lkm6\g]z tflnd ljtf{df]8 g=kf= ^ljtf{df]8 g=kf= ^ljtf{df]8 g=kf= ^ljtf{df]8 g=kf= ^    

86 n]vf Joj:yfkg tflnd ljtf{df]8 g=kf= ^ljtf{df]8 g=kf= ^ljtf{df]8 g=kf= ^ljtf{df]8 g=kf= ^    

87 a'l6s tflnd -dlxnf ;d[l4 cleofg_ ljtf{df]8 g=kf= ^ljtf{df]8 g=kf= ^ljtf{df]8 g=kf= ^ljtf{df]8 g=kf= ^    

88 l;6L l/S;f s'bfpg tflnd -dlxnf dfgj clwsf/_ ljtf{df]8 g=kf= ^ljtf{df]8 g=kf= ^ljtf{df]8 g=kf= ^ljtf{df]8 g=kf= ^    

89 9fsf tyf e]ne]6 h'Qf, rKkn agfpg] tflnd -dlxnf ;d[l4 cleofg_ ljtf{df]8 g=kf= ^ljtf{df]8 g=kf= ^ljtf{df]8 g=kf= ^ljtf{df]8 g=kf= ^    

90 udnf s[ifs 5t uf8]{g  ljtf{df]8 g=kf= ^ljtf{df]8 g=kf= ^ljtf{df]8 g=kf= ^ljtf{df]8 g=kf= ^    
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91 t/sf/Lsf] j]gf{ tflnd ljtf{df]8 ljtf{df]8 ljtf{df]8 ljtf{df]8 g=kf= ^g=kf= ^g=kf= ^g=kf= ^    

92 v]ns'b ;fdu|L -o'jf ;+3 g]kfn_ ljtf{df]8 g=kf= ^ljtf{df]8 g=kf= ^ljtf{df]8 g=kf= ^ljtf{df]8 g=kf= ^    

93 b]lj p= df=lj= s/ft] 8f]hf] v]ns'b ;fdu|L ljtf{df]8 g=kf= ^ljtf{df]8 g=kf= ^ljtf{df]8 g=kf= ^ljtf{df]8 g=kf= ^    

94 afnd}qL of]hgf lgdf{0f tflnd ljtf{df]8 g=kf= ^ljtf{df]8 g=kf= ^ljtf{df]8 g=kf= ^ljtf{df]8 g=kf= ^    

95 afnd}qL :yfgLo zf;g ;DaGwL ;r]tgf d'ns sfo{qmd ljtf{df]8 g=kf= ^ljtf{df]8 g=kf= ^ljtf{df]8 g=kf= ^ljtf{df]8 g=kf= ^    

96 cu/jQL ;DaGwL tflnd ljtf{df]8 g=kf= ^ljtf{df]8 g=kf= ^ljtf{df]8 g=kf= ^ljtf{df]8 g=kf= ^    

97 r]lna]6L a]rljvg lj?4 ;r]tgf d'ns tflnd ljtf{df]8 g=kf= ^ljtf{df]8 g=kf= ^ljtf{df]8 g=kf= ^ljtf{df]8 g=kf= ^    

98 cuf{lgs dn pTkfbg tflnd ljtf{df]8 g=kf= ^ljtf{df]8 g=kf= ^ljtf{df]8 g=kf= ^ljtf{df]8 g=kf= ^    

99 nfu' cf}ifwL ;DaGwL ;r]tgf d'ns tflnd ljtf{df]8 g=kf= ^ljtf{df]8 g=kf= ^ljtf{df]8 g=kf= ^ljtf{df]8 g=kf= ^    

100 dftf dlGb/af6 k"j{sf] xf]lnnfO{ gfnf lgdf{0f ul/ 3fu|f vf]nfdf kflg xfNg] gfnf lgsf; ljtf{df]8 g=kf= ^ljtf{df]8 g=kf= ^ljtf{df]8 g=kf= ^ljtf{df]8 g=kf= ^    

101 s[lifyf]s ahf/ Joj:yfkg ug{ ljtf{df]8 g=kf= ^ljtf{df]8 g=kf= ^ljtf{df]8 g=kf= ^ljtf{df]8 g=kf= ^    

102 d'lQmrf]ssf] k"j{ / klZrddf cfsf;] k'n lgdf{0f ljtf{df]8 g=kf= ^ljtf{df]8 g=kf= ^ljtf{df]8 g=kf= ^ljtf{df]8 g=kf= ^    

103 s[lifyf]sdf cfw'lgs awzfnf lgdf{0f ljtf{df]8 g=kf= ^ljtf{df]8 g=kf= ^ljtf{df]8 g=kf= ^ljtf{df]8 g=kf= ^    

104 kmf]xf]/ d}nf Joj:yflg ul/ afof] Uof; / dn pTkfbg ug]{ sf/vfgf ljtf{df]8 g=kf= ^ljtf{df]8 g=kf= ^ljtf{df]8 g=kf= ^ljtf{df]8 g=kf= ^    

105 lxdfno wd{sf6f /f]8b]lv dx]G|b|f ;f]?d;Ddsf] gfnf 3fu|f vf]nfdf ljtf{df]8 g=kf= ^ljtf{df]8 g=kf= ^ljtf{df]8 g=kf= ^ljtf{df]8 g=kf= ^    

106 ;ftfg' k}gL gfnf lgdf{0f ljtf{df]8 g=kf= ^ljtf{df]8 g=kf= ^ljtf{df]8 g=kf= ^ljtf{df]8 g=kf= ^    
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107 cltly ;bg pQ/af6 s[lifyf]s blIf0f x'b} sgsfO{ hf]8\g] af6f] sfnf] kq] ljtf{df]8 g=kf= ^ljtf{df]8 g=kf= ^ljtf{df]8 g=kf= ^ljtf{df]8 g=kf= ^    

107 sGrgh+3f dfu{ x'+b} 3]/fjf/L hfg] af6f] ljtf{df]8 g=kf= ^ljtf{df]8 g=kf= ^ljtf{df]8 g=kf= ^ljtf{df]8 g=kf= ^    

108 eb|k"/ /f]8 ofdfxf ;f]?daf6 k"j{ sGrgh+3f hf]8g] af6f] u|fe]n tyf gfnf lgdf{0f ljtf{df]8 g=kf= &ljtf{df]8 g=kf= &ljtf{df]8 g=kf= &ljtf{df]8 g=kf= &    

109 eb|k"/ /f]8 klZrd gd:t] afnu|Fd ePsf] af6f] gfnf lgdf{0f tyf u|fe]n ljtf{df]8 g=kf= &ljtf{df]8 g=kf= &ljtf{df]8 g=kf= &ljtf{df]8 g=kf= &    

110 cGgk"0f{ rf]s klZrd gfu]Zj/ ;'Gb/ 6f]n x'b} 6'+udfu{ ;Dd hf]8\g] af6f] sfnf] kq] ljtf{df]8 g=kf= &ljtf{df]8 g=kf= &ljtf{df]8 g=kf= &ljtf{df]8 g=kf= &    

111 sflnsf gu/ rf]saf6 blIf0f sNkgf d}gfnL, OGb| d}gfnLsf] 3/ x'b} j8f g+= * hf]8g] af6f] gfnf lgdf{0f ljtf{df]8 g=kf= &ljtf{df]8 g=kf= &ljtf{df]8 g=kf= &ljtf{df]8 g=kf= &    

112 k'/fgf] eb|k'/ /f]8 sfnf]kq] ljtf{df]8 g=kf= &ljtf{df]8 g=kf= &ljtf{df]8 g=kf= &ljtf{df]8 g=kf= &    

113 eb|k'/ /f]8 Ps lsnf] ld6/ klZrd k/f]ksf/ 6f]n d]3faf/L x'b} j8f g+= * hf]8g\ af6f] sfnf]kq] ljtf{df]8 g=kf= &ljtf{df]8 g=kf= &ljtf{df]8 g=kf= &ljtf{df]8 g=kf= &    

114 Pstf 6f]n /f]8 g+= # ;u/dfyf :s'n hfg] af6f]df sfnf] kq] lgdf{0f ljtf{df]8 g=kf= &ljtf{df]8 g=kf= &ljtf{df]8 g=kf= &ljtf{df]8 g=kf= &    

115 ljtf{ ;dfj];L 6f]nsf] gfnf lgdf{0f ljtf{df]8 g=kf= &ljtf{df]8 g=kf= &ljtf{df]8 g=kf= &ljtf{df]8 g=kf= &    

116 xs{nfn dfu{sf] gfnf tyf sfnf] kq 
ljtf{df] g=kf= %, ljtf{df] g=kf= %, ljtf{df] g=kf= %, ljtf{df] g=kf= %, 

^ & / (^ & / (^ & / (^ & / (    

117 ljtf{ahf/ x'b} 3}nf8'Aaf hfg] af6f] pQ/ zflGt 6f]n d'Ggf cG;/L / lblnk v8\sfsf] 3/ hfg] af6f] dd{t ljtf{df]8 ljtf{df]8 ljtf{df]8 ljtf{df]8 g=kf= *g=kf= *g=kf= *g=kf= *    

118 3}nf8'Aaf hfg] af6f]  b]lv pQ/ zfvf af6f] z]/ a= lji6sf] 3/ hfg] af6f] dd{t ;Def/ ljtf{df]8 g=kf= *ljtf{df]8 g=kf= *ljtf{df]8 g=kf= *ljtf{df]8 g=kf= *    

119 1fg]Gb| uf}tdsf] 3/ blIf0f /f]lxt l/hfnsf] 3/ hfg] zfvf af6f] u|fe]n ljtf{df]8 g=kf= *ljtf{df]8 g=kf= *ljtf{df]8 g=kf= *ljtf{df]8 g=kf= *    

120 cb'jf vf]nf t6aGwg  ljtf{df]8 g=kf= *ljtf{df]8 g=kf= *ljtf{df]8 g=kf= *ljtf{df]8 g=kf= *    

121 l8NnL l;6f}nfsf] 3/af6 pQ/ /fwf v8]sf]sf] 3/ hfg] af6f]df !) yfg ljh''nL kf]n ljtf{df]8 g=kf= *ljtf{df]8 g=kf= *ljtf{df]8 g=kf= *ljtf{df]8 g=kf= *    
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122 1fg]Gb| uf}tdsf] 3/ pQ/ lji0f' dfof u'?ªsf] 3 hfg] zfvf af6f] u|fe]n tyf ljw'lts/0f ljtf{df]8 g=kf= *ljtf{df]8 g=kf= *ljtf{df]8 g=kf= *ljtf{df]8 g=kf= *    

123 uh{dfg u'?ªsf] 3/af6 blIf0f 3}nf8'Aaf hfg] af6f] u|Fe]n  ljtf{df]8 g=kf= *ljtf{df]8 g=kf= *ljtf{df]8 g=kf= *ljtf{df]8 g=kf= *    

124 xg'dfg rf]s k"j{ b]lv rGb| l;6f}nfsf] 3/ pQ/sf] zfvf af6f] u|fe]n ljtf{df]8 g=kf= *ljtf{df]8 g=kf= *ljtf{df]8 g=kf= *ljtf{df]8 g=kf= *    

125 efg'eQm sf]O/fnfsf] 3/ blIf0f b]lv ljtf{df]8 g=kf= @ hf]8\g] zfvf af6f]x?df u|Fe]n / sNe6 lgdf{0f ljtf{df]8 g=kf= *ljtf{df]8 g=kf= *ljtf{df]8 g=kf= *ljtf{df]8 g=kf= *    

126 8's' /fhj+zLsf] 3/af6 klZrd k'sf/ k|wfg / ;+ho /fhj+zLsf] 3/ ;Dd hf]8g] af6f] u|fe]n ljtf{df]8 g=kf= *ljtf{df]8 g=kf= *ljtf{df]8 g=kf= *ljtf{df]8 g=kf= *    

127 k+rsGof blIf0f ;'o{gu/ x'b} 3}nf8'Aaf hfg] af6f] u|fe]n ljtf{df]8 g=kf= *ljtf{df]8 g=kf= *ljtf{df]8 g=kf= *ljtf{df]8 g=kf= *    

128 1fg]Gb| uf}tdsf] kQL ldnaf6 klZrd rf/kfg] @ hf]8\g] sf6f]df u|fe]n / # yfg x\o"dkfOk vl/b ljtf{df]8 g=kf= *ljtf{df]8 g=kf= *ljtf{df]8 g=kf= *ljtf{df]8 g=kf= *    

129 xg'dfg rf]s pQ/ rGb| l;6f}nfsf] 3/ blIf0f b]lv klZrd tkm{ hfg] af6f] u|Fe]n ljtf{df]8 g=kf= *ljtf{df]8 g=kf= *ljtf{df]8 g=kf= *ljtf{df]8 g=kf= *    

130 l8NnL l;6f}nfsf] 3/af6 pQ/ gj{bf v8\sfsf] 3/ hf]8g] af6f]df gfnf lgsf; tyf af6f] dd+t ljtf{df]8 g=kf= *ljtf{df]8 g=kf= *ljtf{df]8 g=kf= *ljtf{df]8 g=kf= *    

131 a'4gu/ 1fg]Gb| uf}tdsf] 3/af6 pQ/ lji0f' dfof u'?ªsf] 3/ hfg] af6f]df gfnf lgsf; ljtf{df]8 g=kf= *ljtf{df]8 g=kf= *ljtf{df]8 g=kf= *ljtf{df]8 g=kf= *    

132 k+rsGof wd{sf6f blIf0f gd'gf dfu{ ;"o{ gu/ x'b} 3}nf8'Aaf af6f] hf]8\g] ;8s u|fe]n ljtf{df]8 g=kf= *ljtf{df]8 g=kf= *ljtf{df]8 g=kf= *ljtf{df]8 g=kf= *    

133 3}nf8'Aaf hfg] af6f]  blIf0f gof 6f]n hfg] af6f] u|fe]n ljtf{df]8 g=kf= *ljtf{df]8 g=kf= *ljtf{df]8 g=kf= *ljtf{df]8 g=kf= *    

134 k+rsGof wd{sf6f blIf0f gd'gf dfu{ ;"o{ gu/ x'b} 3}nf8'Aaf af6f] hf]8g] ;8s u|Fe]n ljtf{df]8 g=kf= *ljtf{df]8 g=kf= *ljtf{df]8 g=kf= *ljtf{df]8 g=kf= *    

135 ;'g'jf/ ls/ft ;d'bfosf] ejg lgdf{0f ljtf{df]8 g=kf= *ljtf{df]8 g=kf= *ljtf{df]8 g=kf= *ljtf{df]8 g=kf= *    

136 rf};7L sfnL dlGb/ b]lv d+un x]d/d sf] 3/;Dd t6aGwg lgdf{0f  ljtf{df]8 g=kf= *ljtf{df]8 g=kf= *ljtf{df]8 g=kf= *ljtf{df]8 g=kf= *    
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137 ls/ft /fO{ ofof]Svf dlGb/ tyf r'nf 3/ lgdf{0f ljtf{df]8 g=kf= *ljtf{df]8 g=kf= *ljtf{df]8 g=kf= *ljtf{df]8 g=kf= *    

138 Jo'l6kfn{/ tflnd ljtf{df]8 g=kf= *ljtf{df]8 g=kf= *ljtf{df]8 g=kf= *ljtf{df]8 g=kf= *    

139 zflGt6f]n ;'s'Daf;L lbzfd'Qm If]q agfpg rkL{ lgdf{0f ljtf{df]8 ljtf{df]8 ljtf{df]8 ljtf{df]8 g=kf= *g=kf= *g=kf= *g=kf= *    

140 cfbz{ gu/ leqsf ;8s ;+hfnsf :t/f]GgtL x\o'dkfO{k tyf ljw'lts/0f  ljtf{df]8 g=kf= *ljtf{df]8 g=kf= *ljtf{df]8 g=kf= *ljtf{df]8 g=kf= *    

141 cb'jf vf]nf blIf0f df]xg zfxsf] 3/ b]lv gjbo :s'n ;Dd t6aGwg ljtf{df]8 g=kf= *ljtf{df]8 g=kf= *ljtf{df]8 g=kf= *ljtf{df]8 g=kf= *    

142 g]q v/]nsf] 3/af6 pQ/ lt/ hfg] af6f] u|Fe]n tyf ljB'lts/0f  ljtf{df]8 ljtf{df]8 ljtf{df]8 ljtf{df]8 g=kf= *g=kf= *g=kf= *g=kf= *    

143 ah|ªjnL afnljsf; s]Gb|sf] nflu ;fdu|L vl/b ljtf{df]8 g=kf= *ljtf{df]8 g=kf= *ljtf{df]8 g=kf= *ljtf{df]8 g=kf= *    

144 ;"o{gu/ afn ljsf; s]Gb|nfO{ ;fdu|L vl/b ljtf{df]8 g=kf= *ljtf{df]8 g=kf= *ljtf{df]8 g=kf= *ljtf{df]8 g=kf= *    

145 zflGt 6f]n b]lv lzjfno dlGb/ hfg] ljrdf k"n tyf af6f] lgdf{0f ljtf{df]8 g=kf= *ljtf{df]8 g=kf= *ljtf{df]8 g=kf= *ljtf{df]8 g=kf= *    

146 l8s axfb'/ tfdfªsf] 3/ b]lv kfgfnfn /fhj+zLsf] 3/ ;Dd t6aGwg  ljtf{df]8 g=kf= *ljtf{df]8 g=kf= *ljtf{df]8 g=kf= *ljtf{df]8 g=kf= *    

147 k'/fgf] cfvf c:ktfn blIf0f k§Lsf] af6f] hubDaf 6f]n ;'wf/ cGtu{t kg]{ af6f] sfnf] kq]  ljtf{df]8 g=kf= *ljtf{df]8 g=kf= *ljtf{df]8 g=kf= *ljtf{df]8 g=kf= *    

148 cgf/dgL :jf:Yo rf}sLsf] k|of]uzfnf ;'l4s/0f tyf sfof{no ;+rfng ljtf{df]8 g=kf= *ljtf{df]8 g=kf= *ljtf{df]8 g=kf= *ljtf{df]8 g=kf= *    

149 cgf/dgL :jf:Yo rf}sLsf] dd{t ;+rf/ tyf pks/0f vl/lb ljtf{df]8 g=kf= *ljtf{df]8 g=kf= *ljtf{df]8 g=kf= *ljtf{df]8 g=kf= *    

150 cgf/dgL :jf:Yo rf}sLdf tflnd xn / sDkfp08 afn lgdf{0f ljtf{df]8 g=kf= *ljtf{df]8 g=kf= *ljtf{df]8 g=kf= *ljtf{df]8 g=kf= *    

151 /fhj+zL ;dfh ljsf; ;ldltsf] ejg lgdf{0f ljtf{df]8 g=kf= *ljtf{df]8 g=kf= *ljtf{df]8 g=kf= *ljtf{df]8 g=kf= *    

152 /fhj+zL ;d'bfosf] tLg :gfg3f6 lgdf{0f ljtf{df]8 g=kf= *ljtf{df]8 g=kf= *ljtf{df]8 g=kf= *ljtf{df]8 g=kf= *    
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153 /fhj+zL ;dfh ljsf; ;ldltsf] ejg hfg] af6f] u|fe]n ljtf{df]8 g=kf= *ljtf{df]8 g=kf= *ljtf{df]8 g=kf= *ljtf{df]8 g=kf= *    

154 /fhj+zL ;d'bfosf] tLg :gfg3f6sf] 3]/fjf/f ljtf{df]8 g=kf= *ljtf{df]8 g=kf= *ljtf{df]8 g=kf= *ljtf{df]8 g=kf= *    

155 ;}lgs df]8af6 >L k|;fb kf7ssf] 3/ x'b} /fh' rfDnLªsf] 3/af6 ;f]daf/] hfg] ;8s sfnf]kq] ljtf{df]8 g=kf= (ljtf{df]8 g=kf= (ljtf{df]8 g=kf= (ljtf{df]8 g=kf= (    

156 ljtf{jhf/sf] ahf/ lj:tf/sf] nflu Jokfl/s ejg lgdf{0f ljtf{df]8 g=kf= (ljtf{df]8 g=kf= (ljtf{df]8 g=kf= (ljtf{df]8 g=kf= (    

157 cb'jf vf]nf t6aGwg  ljtf{df]8 g=kf= (ljtf{df]8 g=kf= (ljtf{df]8 g=kf= (ljtf{df]8 g=kf= (    

158 ljtf{ahf/ k"j{ s[i0f lu/Lsf] 3/ blIf0f k"j{ b]lv ljtf{ahf/ klZrd cb'jf vf]nf k'n x'b} 8f]dfnfn /|uzfnf;Dd sfnf]kq] ljtf{df]8 g=kf= (ljtf{df]8 g=kf= (ljtf{df]8 g=kf= (ljtf{df]8 g=kf= (    

159 k+rsGof dfu{ af6f] :t/f]GgtL ljtf{df]8 g=kf= (ljtf{df]8 g=kf= (ljtf{df]8 g=kf= (ljtf{df]8 g=kf= (    

160 k'08/L rf]s x'b} uf]; nfO{g klZrd cb'jf vf]nfdf k'n lgdf{0f ljtf{df]8 g=kf= (ljtf{df]8 g=kf= (ljtf{df]8 g=kf= (ljtf{df]8 g=kf= (    
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